

Jan Bochenek, Teresa Winiarska

C_0 -SEMIGROUPS WITH WEAK SINGULARITY AND ITS APPLICATIONS

Abstract. In this paper we define the C_0 - semigroup with weak singularity and we give a characterization of its generator. We prove an analogue of the Hille-Yosida theorem.

1. Introduction

It is known that the theory of semigroups of linear operators in Banach space has applications in many branches of analysis. In the present paper we will restrict our attention to applications which are related to the solution of some initial value problems for partial differential equations. In the applications of the abstract theory, it is usually shown that a given differential operator A is the infinitesimal generator of a C_0 -semigroup in a certain concrete Banach function space X (cf. [5]).

There are differential operators generating the semigroups which are not of class C_0 . K. Taira in [7] has given an example of the boundary value problem for partial differential equation of the second order such that the associated with this problem operator A acting in the space $L_2(\Omega)$ generates a semigroup $U(z)$ on $L_2(\Omega)$ which is analytic in the sector

$$\Delta_\varepsilon = \{z : |\arg z| < \frac{\pi}{2} - \varepsilon, \quad z \neq 0\}$$

and

$$(1) \quad \|U(z)\| \leq \frac{M_\varepsilon}{|z|^{1-\theta}}, M_\varepsilon > 0, \quad z \in \Delta_\varepsilon, 0 < \theta < 1.$$

In this example the singularity of the semigroup is connected with the boundary conditions (for details see, [6]).

On the other hand, it has been shown by Kielhöfer [4] and von Wahl [10], [11] that, in the space of Hölder continuous functions, an operator corresponding to a strongly elliptic differential operator with Dirichlet boundary conditions doesn't generate a C_0 -semigroup (see also [12]).

2. C_0 -semigroup with singularity

Let X be a Banach space and let $A : X \longrightarrow X$ be a closed linear operator with domain $D(A) \subset X$, where $\overline{D(A)} = X$.

Basing on the theory of analytic semigroups with weak singularity (cf. for example [9], [7]), we have the following definition.

DEFINITION 1. A family of bounded linear operators $U(t) : X \longrightarrow X$ depending on a parameter $t \in (0, +\infty)$ is said to be a semigroup with weak singularity for $t = 0$ if

$$U(t+s) = U(t)U(s) \quad \text{for } t, s \in (0, +\infty)$$

and

$$(2) \quad \|U(t)\| \leq \frac{M}{t^{1-\theta}}, \quad M > 0, \quad 0 < \theta < 1, \quad t > 0.$$

DEFINITION 2. The semigroup $\{U(t), t > 0\}$ defined above is said to be the C_0 -semigroup with weak singularity if the mapping $(0, +\infty) \ni t \longrightarrow U(t)x$ is continuous for $x \in X$.

DEFINITION 3. We say that an operator $A : X \longrightarrow X$ with domain $D(A)$ generates the C_0 -semigroup with weak singularity if

- (i) $D(A) := \{x \in X : dU(t)x/dt \text{ exists for } t > 0\}$,
- (ii) $\frac{dU(t)x}{dt} = AU(t)x, t > 0, x \in D(A)$.

We shall prove the following

THEOREM 1. A necessary and sufficient condition that a closed linear and densely defined in X operator A generates a C_0 -semigroup with weak singularity is that the resolvent set $\rho(A) \supset (\omega, \infty)$, $\omega \geq 0$ and there exists a constant $M > 0$ such that

$$(3) \quad \|R(\lambda, A)^n\| = \|(\lambda - A)^{-n}\| \leq \frac{M}{(\lambda - \omega)^{n-1+\theta}} \frac{\Gamma(n-1+\theta)}{(n-1)!}$$

for $\lambda > \omega$, and all positive integers n .

Proof. (Sufficiency). First we assume that $\omega = 0$. We denote

$$(4) \quad V_n(t) := \left(1 - \frac{t}{n}A\right)^{-n}, \quad t > 0, \quad n = 1, 2, \dots$$

(cf. [1, Ch. IX]).

Since $V_n(t) = (\frac{n}{t})^n R(\frac{n}{t}, A)^n$ and (3), we have

$$\begin{aligned}\|V_n(t)\| &\leq \left(\frac{n}{t}\right)^n \frac{M}{(\frac{n}{t})^{n-1+\theta}} \cdot \frac{\Gamma(n-1+\theta)}{(n-1)!} \\ &= M \left(\frac{n}{t}\right)^{1-\theta} \frac{\Gamma(n-1+\theta)}{(n-1)!} \\ &= \frac{M}{t^{1-\theta}} \cdot \frac{n^{1-\theta}}{(n-1)!} \Gamma(n-1+\theta) \leq \frac{M}{t^{1-\theta}},\end{aligned}$$

because $\frac{n^{1-\theta}}{(n-1)!} \Gamma(n-1+\theta) \leq 1$. Hence

$$(5) \quad \|V_n(t)\| \leq \frac{M}{t^{1-\theta}}, \quad t > 0.$$

From this follows that the sequence $\{V_n(t)\}$, defined by (4), is uniformly bounded in each interval $[a, b] \subset (0, \infty)$.

Analogously we get

$$\begin{aligned}\|(1 - \frac{t}{n}A)^{-n-1}\| &= \left(\frac{n}{t}\right)^{n+1} \left\| R\left(\frac{n}{t}, A\right)^{n+1} \right\| \\ &\leq M \left(\frac{n}{t}\right)^{1-\theta} \frac{\Gamma(n+\theta)}{n!} = \frac{M}{t^{1-\theta}} \frac{\Gamma(n+\theta)}{n! n^{\theta-1}} \leq \frac{M}{t^{1-\theta}}.\end{aligned}$$

Therefore

$$(6) \quad \left\| \left(1 - \frac{t}{n}A\right)^{-n-1} \right\| \leq \frac{M}{t^{1-\theta}}, \quad M > 0, \quad t > 0, \quad n \in N.$$

Furthermore, the mapping $(0, \infty) \ni t \rightarrow V_n(t)x$ is holomorphic, for $x \in X$, since the mapping $(0, \infty) \ni \lambda \rightarrow (\lambda - A)^{-1}x$ is holomorphic for $x \in X$.

In particular we have

$$(7) \quad \frac{dV_n(t)x}{dt} = A \left(1 - \frac{t}{n}A\right)^{-n-1} x, \quad t > 0 \quad x \in X.$$

From (6) and (7) we obtain

$$(8) \quad \left\| \frac{dV_n(t)x}{dt} \right\| = \left\| \left(1 - \frac{t}{n}A\right)^{-n-1} Ax \right\| \leq \frac{M}{t^{1-\theta}} \|Ax\| \quad \text{for } x \in D(A).$$

By integration of the equality (7) and using inequality (8) we have

$$(9) \quad V_n(t)x - \lim_{s \rightarrow 0^+} V_n(s)x = \int_0^t \left(1 - \frac{s}{n}A\right)^{-n-1} Ax \, ds \quad \text{for } x \in D(A).$$

Because the improper Riemann integral on the right hand of (9) exists, then from (9) it follows that for $x \in D(A)$ $\lim_{t \rightarrow 0^+} V_n(t)x$ is an element of X .

We prove that

$$(10) \quad \lim_{t \rightarrow 0^+} V_n(t)x = x \quad \text{for } x \in D(A).$$

Indeed, we have

$$\begin{aligned} \left\| \left(1 - \frac{t}{n}A\right)^{-1} x - x \right\| &= \left\| \left(1 - \frac{t}{n}A\right)^{-1} \frac{t}{n}Ax \right\| \\ &\leq \frac{M}{\left(\frac{n}{t}\right)^{1-\theta}} \cdot \frac{t}{n} \cdot \|Ax\| \quad \text{for } x \in D(A). \end{aligned}$$

Hence, we get

$$(11) \quad \lim_{t \rightarrow 0^+} \left(1 - \frac{t}{n}A\right)^{-1} x = x \quad \text{for } x \in D(A).$$

Similary, for $x \in D(A)$, and $k \in N$ we have

$$\begin{aligned} &\left\| \left(1 - \frac{t}{n}A\right)^{-k} x - \left(1 - \frac{t}{n}A\right)^{1-k} x \right\| \\ &= \left\| \left(1 - \frac{t}{n}A\right)^{-k} \frac{t}{n}Ax \right\| \\ &\leq \frac{M}{\left(\frac{n}{t}\right)^{1-\theta}} \cdot \frac{t}{n} \|Ax\| \frac{\Gamma(k-1+\theta)}{(k-1)!} \\ &\leq M \left(\frac{t}{n}\right)^\theta \|Ax\| \rightarrow 0 \quad \text{when } t \rightarrow 0^+. \end{aligned}$$

From this we obtain

$$\begin{aligned} \|V_n(t)x - x\| &= \left\| \left(1 - \frac{t}{n}A\right)^{-n} x - x \right\| \\ &\leq \left\| \left(1 - \frac{t}{n}A\right)^{-n} x - \left(1 - \frac{t}{n}A\right)^{1-n} x \right\| \\ &\quad + \left\| \left(1 - \frac{t}{n}A\right)^{1-n} x - \left(1 - \frac{t}{n}A\right)^{2-n} x \right\| + \dots \\ &\quad + \left\| \left(1 - \frac{t}{n}A\right)^{-1} x - x \right\| \\ &\leq nM \left(\frac{t}{n}\right)^\theta \|Ax\| = n^{1-\theta} M \|Ax\| t^\theta \rightarrow 0 \quad \text{when } t \rightarrow 0^+. \end{aligned}$$

Therefore by (9) and (10) we obtain

$$(12) \quad V_n(t)x - x = \int_0^t A \left(1 - \frac{s}{n}A\right)^{-n-1} x \, ds \quad \text{for } x \in D(A).$$

Now we shall prove that, for $x \in X$, the sequence $\{V_n(t)x\}$ converges uniformly with respect to t in any interval $[a, b] \subset (0, \infty)$ as $n \rightarrow \infty$. For this purpose let $x \in D(A)$ and let $t \in [a, b]$. We estimate $V_n(t)x - V_m(t)x$.

For this we note, in virtue of (10), that

$$(13) \quad V_n(t)x - V_m(t)x = \int_0^t \frac{d}{ds} [V_m(t-s)V_n(s)x] \, ds.$$

To estimate (13) we assume that $x \in D(A^2)$. Since the resolvent of A commutes with A , then (13) and (5) give

$$\begin{aligned} \|V_n(t)x - V_m(t)x\| &\leq M^2 \|A^2 x\| \int_0^t \left(\frac{s}{n} + \frac{t-s}{m}\right) s^{\theta-1} (t-s)^{\theta-1} \, ds \\ &= M^2 \|A^2 x\| \left(\frac{1}{n} + \frac{1}{m}\right) \int_0^t (t-s)^{\theta-1} s^{\theta} \, ds. \end{aligned}$$

From this it follows that

$$(14) \quad \|V_n(t)x - V_m(t)x\| \leq M^2 \|A^2 x\| b^{2\theta} \frac{\Gamma(\theta+1)\Gamma(\theta)}{\Gamma(2\theta+1)} \left(\frac{1}{n} + \frac{1}{m}\right), \quad t \in [a, b],$$

which implies the Cauchy condition for uniform convergence in $[a, b]$ of the sequence $V_n(t)x$, provided that $x \in D(A^2)$. Since $D(A^2)$ is dense in X and the sequence $\{V_n(t)x\}$ is norm bounded in $[a, b]$, then in view of the Banach-Steinhaus theorem, it follows that $\lim_{n \rightarrow \infty} V_n(t)x$ exists for $x \in X$.

We define

$$(15) \quad U(t)x := \lim_{n \rightarrow \infty} V_n(t)x \quad \text{for } x \in X \text{ and } t > 0.$$

Since $V_n(t)x \rightarrow U(t)x$ as $n \rightarrow \infty$ uniformly in t in any finite interval $[a, b] \subset (0, \infty)$ and the mapping $(0, \infty) \ni t \rightarrow V_n(t)x$ is continuous, then $U(t)x$ is continuous in $t \in (0, \infty)$. In other words, $U(t)$ is strongly continuous for $t > 0$. Furthermore

$$(16) \quad \|U(t)\| \leq \frac{M}{t^{1-\theta}}, \quad t > 0$$

and

$$(17) \quad \lim_{t \rightarrow 0^+} U(t)x = x \quad \text{for } x \in D(A),$$

by (5) and (10).

Let us remark that

$$(18) \quad \int_0^t \left(1 - \frac{s}{n}A\right)^{-n-1} x \, ds = \int_0^t V_n(s) \left(1 - \frac{s}{n}A\right)^{-1} x \, ds \quad \text{for } x \in D(A).$$

It follows from (11) that $\lim_{n \rightarrow \infty} (1 - \frac{s}{n}A)^{-1}x = x$ for $x \in D(A)$ uniformly in s in $[a, b]$.

Thus by (18) we have

$$(19) \quad \int_0^t \left(1 - \frac{s}{n}A\right)^{-n-1} x \, ds \rightarrow \int_0^t U(s)x \, ds \quad \text{as } n \rightarrow \infty.$$

On the other hand from (12) for $x \in D(A)$ we get

$$(20) \quad A \int_0^t \left(1 - \frac{s}{n}A\right)^{-n-1} x \, ds = V_n(t)x - x \rightarrow U(t)x - x.$$

Because A is closed and because of (19) and (20) $\int_0^t U(s)x \, ds \in D(A)$ for $x \in D(A)$. Moreover

$$(21) \quad U(t)x - x = A \int_0^t U(s)x \, ds.$$

Using again the closedness of A , from (21) we obtain

$$(22) \quad U(t)x - x = \int_0^t AU(s)x \, ds.$$

From (20) we have

$$(23) \quad \begin{aligned} V_n(t)x - x &= A \int_0^t \left(1 - \frac{s}{n}A\right)^{-n-1} x \, ds \\ &= \int_0^t \left(1 - \frac{s}{n}A\right)^{-n-1} A x \, ds \quad \text{for } x \in D(A). \end{aligned}$$

It follows from (23), as $n \rightarrow \infty$, that

$$(24) \quad U(t)x - x = A \int_0^t U(s)x \, ds = \int_0^t AU(s)x \, ds = \int_0^t U(s)Ax \, ds$$

for $x \in D(A)$.

Since $U(s)Ax$ is continuous in s , then (24) shows that $U(t)x$ is differentiable in t for $x \in D(A)$ and

$$(25) \quad \frac{dU(t)x}{dt} = U(t)Ax = AU(t)x, \quad t > 0, \quad x \in D(A).$$

In order to prove that $\{U(t), t > 0\}$ is a semigroup we observe that, by (25), we have that

$$(26) \quad u(t) = U(t)u_0 \quad \text{for } t > 0$$

is a solution of the differential equation

$$(27) \quad \frac{du}{dt} = Au(t), \quad t > 0$$

with the initial condition

$$(28) \quad \lim_{t \rightarrow 0^+} u(t) = u_0,$$

provided the initial value $u_0 \in D(A)$. We prove that the problem (27), (28) has the unique solution. In fact, let u be a solution of (27), (28), where by solution of (27), (28) we mean a function $u \in C([0, +\infty)) \cap C^1(0, +\infty)$ such that $u(t) \in D(A)$ for $t > 0$ and (27), (28) hold true. Then

$$(29) \quad \begin{aligned} \frac{d}{ds} U(t-s)u(s) &= -U'(t-s)u(s) + U(t-s)u'(s) \\ &= -U(t-s)Au(s) + U(t-s)Au(s) = 0, \quad 0 < s < t, \end{aligned}$$

because of (27). Thus the mapping $(0, t) \ni s \rightarrow U(t-s)u(s)$ is constant, for each $t > 0$. Since

$$(30) \quad \lim_{s \rightarrow t^-} U(t-s)u(s) = u(t) \quad \text{and} \quad \lim_{s \rightarrow 0^+} U(t-s)u(s) = U(t)x_0,$$

then, by (17), (28) and strong continuity of $U(t)$, for $t > 0$, we have

$$(31) \quad u(t) = U(t-s)u(s) = U(t)x_0 \quad \text{for } 0 < s < t.$$

The equality (31) implies

$$U(t)x_0 = U(t-s)u(s) = U(t-s)U(s)x_0,$$

which is true for all $x_0 \in D(A)$. From this, by density $D(A)$ in X , we have $U(t) = U(t-s)U(s)$. This may be written as

$$(32) \quad U(t+s) = U(t)U(s), \quad s, t > 0.$$

The latter means that $\{U(t), t > 0\}$ is a semigroup. The sufficiency is proved.

Finally we shall show the necessity. To do it we will use the following formula expressing the resolvent $R(\lambda, A)$ of the operator A in terms of $U(t)$. We have

$$(33) \quad R(\lambda, A)x = \int_0^{\infty} e^{-\lambda t} U(t)x dt, \quad \lambda > 0, x \in X,$$

which shows that the resolvent $R(\lambda, A)$ is the Laplace transform of the semigroup $U(t)$ with weak singularity. Note that the integral on the right hand side of (33) is an improper Riemann integral defined as the limit

$$(34) \quad \lim_{\tau \rightarrow \infty} \lim_{\varepsilon \rightarrow 0^+} \int_{\varepsilon}^{\tau} e^{-\lambda t} U(t)x dt.$$

The existence of this limit follows from inequality (2) and the continuity of the integrand function of $t \in (0, +\infty)$.

To prove (33) fix $x \in D(A)$. Then

$$dU(t)x/dt = U(t)Ax$$

and

$$(d/dt)e^{-\lambda t}U(t)x = -e^{-\lambda t}U(t)(\lambda - A)x.$$

Integration of this equality gives

$$\lim_{\varepsilon \rightarrow 0^+} e^{-\lambda \varepsilon} U(\varepsilon)x - \lim_{\tau \rightarrow \infty} e^{-\lambda \tau} U(\tau)x = \int_0^{\infty} e^{-\lambda t} U(t)(\lambda - A)x dt$$

and so

$$(35) \quad x = \int_0^{\infty} e^{-\lambda t} U(t)(\lambda - A)x dt \quad \text{for } x \in D(A).$$

Putting $v := (\lambda - A)x$ in (35) we get

$$(\lambda - A)^{-1}v = R(\lambda, A)v = \int_0^{\infty} e^{-\lambda t} U(t)v dt \quad \text{for } v \in X,$$

which proves the formula (33).

Since the resolvent $R(\lambda, A)x$ is a holomorphic function for $\lambda > 0$ then we get

$$\frac{d}{d\lambda} R(\lambda, A)x = \frac{d}{d\lambda} \int_0^{\infty} e^{-\lambda t} U(t)x dt = \int_0^{\infty} (-t) e^{-\lambda t} U(t)x dt.$$

Proceeding by induction we obtain

$$\frac{d^n}{d\lambda^n} R(\lambda, A)x = \int_0^\infty (-1)^n t^n e^{-\lambda t} U(t)x dt.$$

From this and by formula

$$\frac{d^n}{d\lambda^n} R(\lambda, A)x = (-1)^n n! R(\lambda, A)^{n+1}x,$$

we have

$$(36) \quad R(\lambda, A)^n x = \frac{1}{(n-1)!} \int_0^\infty t^{n-1} e^{-\lambda t} U(t)x dt.$$

Using the inequality (2), from (36) we obtain

$$(37) \quad \|R(\lambda, A)^n x\| \leq \frac{M}{(n-1)!} \int_0^\infty t^{n-2+\theta} e^{-\lambda t} \|x\| dt, \quad M > 0, \lambda > 0.$$

The inequality (37) implies (3) with $\omega = 0$.

REMARK 1. Let be $\omega > 0$ in Theorem 1, i.e. let the semi-infinite interval $(\omega, \infty) \subset \varrho(A)$. Then the operator $A_1 := A - \omega I$ satisfies the assumptions of Theorem 1 with $\omega = 0$, so A_1 generates the semigroup $U_1(t)$, $t > 0$ such that

$$\|U_1(t)\| \leq \frac{M}{t^{1-\theta}}.$$

If we set $U(t) := e^{\omega t} U_1(t)$, it can easily verified that $U(t)$ has all the properties stated in Theorem 1, with the following modification of (2)

$$(38) \quad \|U(t)\| \leq \frac{M}{t^{1-\theta}} e^{\omega t}, \quad M > 0, 0 < \theta < 1, t > 0.$$

3. The abstract Cauchy problem

Let A be a linear operator satisfying the assumptions of Theorem 1 which generates a C_0 -semigroup $\{U(t), t > 0\}$ with weak singularity for $t = 0$. We consider the following Cauchy problem

$$(39) \quad \frac{du}{dt} = Au + f, \quad t \in (0, T],$$

$$(40) \quad u(0) = u_0,$$

where $f : [0, T] \rightarrow X$ is continuously differentiable and $u_0 \in D(A)$.

DEFINITION 4. A function $u : [0, T] \rightarrow X$ is said to be a (classical) solution of problem (39), (40) if:

- (i) u is continuous in $[0, T]$,

- (ii) u is of class C^1 in $(0, T]$,
- (iii) u satisfies equation (39) in $(0, T]$ and $u(0) = u_0$.

We shall prove the following

THEOREM 2. *If the operator A , the function f and u_0 satisfy the above assumptions, then the problem (39), (40) has the unique classical solution u which is given by*

$$(41) \quad u(t) = U(t)u_0 + \int_0^t U(t-s)f(s) ds, \quad t \in [0, T],$$

where

$$u_0 = u(0) := \lim_{t \rightarrow 0^+} u(t).$$

Proof. We know that the first term $U(t)x_0$ on the right hand side of (41) satisfies the homogeneous differential equation (39). i.e. $f = 0$, and the initial condition (40) (cf. (26)–(28)). Therefore it suffices to show that the second term of the right hand side of (41) satisfies (39) and has initial value zero. Denoting this term by $v(t)$, we have

$$(42) \quad v(t) = \int_0^t U(t-s)f(s) ds.$$

Since $f \in C^1([0, T])$ we get

$$(43) \quad f(t) = f(0) + \int_0^t f'(\tau) d\tau \quad \text{for } t \in [0, T].$$

By (42) and (43) we have

$$\begin{aligned} (44) \quad v(t) &= \int_0^t U(t-s) \left[f(0) + \int_0^s f'(\tau) d\tau \right] ds \\ &= \int_0^t U(t-s)f(0) ds + \int_0^t \left[\int_\tau^t U(t-s)f'(\tau) ds \right] d\tau \\ &= \int_0^t U(r)f(0) dr + \int_0^t \left[\int_0^{t-\tau} U(r)f'(\tau) dr \right] d\tau. \end{aligned}$$

But by (21)

$$A \int_0^t U(s)x ds = U(t)x - x \quad \text{for } x \in D(A), t > 0.$$

This can be extended to an arbitrary $x \in X$ by choosing a sequence $\{x_n\} \subset D(A)$ such that $x_n \rightarrow x$ as $n \rightarrow \infty$ and going to the limit, for

$$\int_0^t U(s)x_n ds \rightarrow \int_0^t U(s)x ds$$

and

$$U(t)x_n - x_n \rightarrow U(t)x - x.$$

From this by the closedness of A we obtain $\int_0^t U(s)x ds \in D(A)$ and

$$(45) \quad A \int_0^t U(s)x ds = U(t)x - x, \quad \text{for } x \in X, t > 0.$$

It follows from (44) and (45) that $v(t) \in D(A)$ and

$$(46) \quad \begin{aligned} Av(t) &= U(t)f(0) - f(0) + \int_0^t [U(t-\tau)f'(\tau) - f'(\tau)] d\tau \\ &= U(t)f(0) - f(t) + \int_0^t U(t-\tau)f'(\tau) d\tau. \end{aligned}$$

On the other hand we have

$$v(t) = \int_0^t U(s)f(t-s) ds$$

and so

$$(47) \quad \begin{aligned} \frac{dv}{dt}(t) &= U(t)f(0) + \int_0^t U(s)f'(t-s) ds \\ &= U(t)f(0) + \int_0^t U(t-\tau)f'(\tau) d\tau. \end{aligned}$$

A comparison of (46) and (47) shows that

$$\frac{dv}{dt}(t) = Av(t) + f(t),$$

as we wished to prove. Also it is easy to show that

$$\lim_{t \rightarrow 0^+} v(t) = 0.$$

The continuity of dv/dt follows from (47) by continuity of $f' : [0, T] \rightarrow X$ and this completes the proof of Theorem 2.

EXAMPLE. Let $X := C^\alpha(\overline{\Omega})$ where Ω is a bounded region in R^n which the boundary $\partial\Omega$ is locally of class C^m .

Let us consider the following mixed problem

$$(48) \quad \begin{cases} \frac{\partial^2 u}{\partial t^2}(x, t) = \mathcal{A}(x, D)u(t, x) + f(t, x), & x \in \Omega, 0 < t \leq T, \\ \frac{\partial^\alpha u}{\partial x^\alpha}(t, x) = 0, \quad |\alpha| \leq m/2 - 1, & x \in \partial\Omega, 0 < t \leq T, \\ u(0, x) = u_0(x), \quad \frac{\partial u}{\partial t}(0, x) = u_1(x), & x \in \Omega, \end{cases}$$

where m is an even number, and

$$\mathcal{A}(x, D) := \sum_{|\alpha| \leq m} a_\alpha(x) D^\alpha,$$

is strongly elliptic differential operator.

Under assumptions that the coefficients a_α are the sufficiently regular the problem (48) may be consider as the abstract linear initial hyperbolic problem in the space X of the form

$$(49) \quad \begin{cases} \frac{d^2 u}{dt^2} = Au + f, & 0 < t \leq T, \\ u(0) = u_0, \quad u'(0) = u_1, \end{cases}$$

where

$$A : D(A) \rightarrow X$$

$$D(A) := \left\{ u \in C^{m+\alpha}(\overline{\Omega}) : \frac{\partial^\alpha u}{\partial x^\alpha}(t, x) \Big|_{\partial\Omega} = 0, \quad |\alpha| \leq m/2 - 1 \right\}$$

and

$$(Au)(t, x) := \mathcal{A}(x, D)u(t, x), \quad x \in \Omega, \quad 0 < t \leq T,$$

$$f : [0, T] \rightarrow X, \quad f(t)(x) := f(t, x), \quad x \in \overline{\Omega}, \quad 0 < t \leq T,$$

$$u_0 := u_0(x), \quad u_1 := u_1(x), \quad x \in \Omega.$$

To solve the problem (49) we can reduce it to a first order Cauchy problem, of course under some assumptions on the operator A (for details see e. g. [2], [3], [8]). The problem (49) may be equivalent of the following first order Cauchy problem

$$(50) \quad \begin{cases} \frac{dV}{dt} = BV + F & \text{in } (0, T], \\ V(0) = V_0, \end{cases}$$

where

$$\mathcal{B} := \begin{bmatrix} 0 & I \\ A & 0 \end{bmatrix}, \quad V := \begin{bmatrix} u \\ v \end{bmatrix}, \quad F := \begin{bmatrix} 0 \\ f \end{bmatrix}, \quad V_0 := \begin{bmatrix} u_0 \\ u_1 \end{bmatrix}$$

$$\mathcal{B} : [D(B)] \times X \rightarrow [D(B)] \times X,$$

where $[D(B)]$ denotes the Banach space $D(B)$ with graph norm $\|x\|_B := \|x\| + \|Bx\|$, and operator $B : X \rightarrow X$ is such that $B^2 = A$; $D(\mathcal{B}) := D(A) \times D(B)$.

Using the results of the papers [4], [10], [11] we obtain

$$(51) \quad \|R(\lambda, A)\| \leq \frac{M}{\lambda^{1-\frac{\alpha}{m}}}, \quad \text{for } \lambda > 0,$$

in norm of the space $X = C^\alpha(\overline{\Omega})$.

From (51) similarly as in [8], we can deduce that

$$(52) \quad \|R(\lambda, \mathcal{B})\| = \|(\lambda - \mathcal{B})^{-1}\| \leq \frac{M}{|\lambda|^\theta}$$

which $\theta = 1 - \frac{\alpha}{m}$, and so $0 < \theta < 1$.

From the inequality (52) it follows that the mixed problem (48) can be reduced to the abstract Cauchy problem with weak singularity, i.e. to the problem (39), (40).

References

- [1] T. Kato, *Perturbation Theory of Linear Operators*, Grundlehren Math. Wiss. 132 (1980), Springer, New York.
- [2] H. O. Fattorini, *Ordinary differential equations in linear topological spaces, I*, J. Differential Equations 5 (1968), 72–105.
- [3] H. O. Fattorini, *Ordinary differential equations in linear topological spaces, II*, ibid. 6 (1969), 50–70.
- [4] H. Kielhöfer, *Halbgruppen und semilineare Anfangs-Randwertprobleme*, Manuscripta Math., 12, (1974), 121–152.
- [5] S. Krein, *Linear Differential Equation in Banach Space*, Amer. Math. Soc. (1972).
- [6] K. Taira, *Un théorème d'existence et d'unicité des solutions pour des problèmes aux limites non-elliptiques*, J. Funct. Anal., 43 (1981), 166–192.
- [7] K. Taira, *The theory of semigroups with weak singularity and its applications to partial differential equations*, Tsucuba J. Math. 13 no. 2 (1989), 513–562.
- [8] C. Travis and G. Webb, *Cosine families and abstract nonlinear second order differential equations*, Acta Math. Acad. Sci. Hungar. 32 (1978), 75–96.
- [9] K. Umezū, *On the Cauchy problem for analytic semigroups with weak singularity*, Tsucuba J. Math. 15 no. 2 (1991), 275–292.
- [10] W. von Wahl, *Gebrochene Potenzen eines elliptischen Operators und parabolische Differentialgleichungen in Räumen hölderstetiger Functionen*, Nachr. Akad. Wiss Göttingen Math. Phys. Kl. II (1972), 231–258.

- [11] W. von Wahl, *Einige bemerkungen zu meiner arbeit, "Gebrochene Potenzen eines elliptischen Operators und parabolische Differentialgleichungen in Räumen hölder-stetiger Functionen"*, Manuscripta Math. 11 (1974), 199–201.
- [12] A. Yagi, *Parabolic evolution equations in which the coefficients are the generators of infinitely differentiable semigroups*, Funkcial. Ekvac. (1989), 107–124.

INSTITUTE OF MATHEMATICS
CRACOW UNIVERSITY OF TECHNOLOGY
Warszawska 24
31-155 CRACOW, POLAND

Received January 10, 2000.